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3.3 R TR v(@) = 10cos(10t+30 ") e FF # T > 2 22 7 Sni(t) = -5sin(10t-70 ") & crajp =B % 5 @ ?
(A)n/5> TRAEXT 2107 (B)w/S » T inti 4% R10°
(C)m/10 > T RAE L T 72100 (D) W/10 > T imAE £ 3 R100°
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(A) 6.855V (B)6.987 V ©) 6.834 A% (D) 7.252V

[A] 16. @ * N Ei B R 2 BT B ﬁ%l/\ T & % Vpeak = 100V ~ 60 Hz - ﬁi%lﬂ TE R
100 pF - ¢ i\‘ S10kQ - B B2 E B Bl R RAR TR Vi peak to peak ?
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[C] 19. =

[A] 20.

[D] 21.

[A] 22.

[B] 23.

[D] 24. %

[C] 25.

[A] 26.

[D] 27.

[C] 28.

LBl * A - &4 (Zener Diode) | (TAER T BL 0 B - &M A20mA PF 0V, =12V~
r,=10Q Vs 20 V425 V2 B 86 > I & P0 mAfr30 MA 2 B %% > ® [ nin = 5 mA ~

Izmax=80mA’—rrjﬁ—iﬁcfﬁjﬁﬁﬁ? R
(A) REA% ] » FERRAXLF W—e n
(B)R# =+ & 5245 Q
I
(C)RE| & 5 155Q Vs Zl vo On
(D)ER=160Q » I, B~ & 1 7 H K VyF 0.287 Vz &1 L-
S
- BY R SR ——— 5 Tk B9
P s S2+7S+12 - v it

(A)F L ik B)F it & (C) Mgt F (D)% i gk F
T 3 F@,*"é W PR R B2 At o IF—*"‘ 7

(A7 RBP4k ~ Tinw 7 % Mzgj ~ PR

(B)ix g3 & (Loop Gain) fe4p =45 180° ™ » ¥ F /[ **1> T8R4 €2

(OF* H - tRghz B B der TIEE 8 TH- LT

D)7 Bt~ R Bw ¥ % iwg%] i pE F

B35 ANMOST & dl » Ve =2V~ 20r = 0.6V -y = 0.4Vz > £Vs = 3.5 VB » V5 § 5 2

(A)2.5V B)2V ©3V (D)2.3V
o B> ASB - Co @R~ > YEN LR ? Voo
(A)A+B+C d;T
(B)A + BC S
(©)AB +C) wf ]
(D) ABC )

Bo—| o

&3 - Brs #FE I= F B(Hartley Oscillator) » &= 47 % 5 100kHz > & g L; =L, =0.1mH > 7]
R., 49 C: & @ ‘?

(A) 25.33 nF (B) 50.66 nF (C) 500 nF (D) 12.67 nF
BAFHMTERRGY > EHLRY PAAE?
(A)7 4o 18 (B)% e €)% B (D)Z %
- THRLT B A X G AAFIEILE25+25Q S S AP IELE4+2Q 0 RE#EF ?
2

ENCIN

1 5 9 2
(A) > (B) = (C) = (D) n
Yot Bl AT e TR 0 3 ,; xR B 0 Ma - b} ,; F13 > Mo d s 523 LB RER2Z
2 ¥ Zn Z“]:* 70 % e ? R, 4Q R, g Q g Q

ZZl ZZZ a c a Cc
(A)5.6Q (B) 7.0 Q 8Q 8Q R,
(C)8.4Q D) 1120 b ; ; d b d

Yot BT TR 3R BT IR o B vi(t)=24cos3tV -
v2(t)=8cos4t V » R 7 [E B enT s yes ¥ 5 @ 7
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[C] 44.
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(A) 10 rad/s (B) 10° rad/s (C) 10° rad/s (D)10? rad/s
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[C] 45. 3% 3~ M Jait BhoL Bl 4% 5 10KkHz > R, = 10kQ ~C; =C, = 1nF > A% B8 ¥ %
CEOR L SN ?
(A) 1 MQ
(B) 50.66 kQ

(C) 25.33 kQ
(D) 20.64 kQ

[D] 46. B 5— B B (Series-Series) ¥ 32 7 . Af = TTAB 'R =100Q ~r; = 2kQ ~gm = 0.04 A/V .

R, =R, = 10kQ » &% f §I»z & (Early Effect) » T 5 10V
R L A

(A) Ripr = 5kQ (B) =0.01
(C) A; = 0.12 (D) A =0.038

[D] 47. 7 5|1 >* B B T % Jnit % (The Switched-Capacitor Filter)shgcit - 4 5 3% 2
(A)Z & * 2 £ fp(non-overlapping)=7% it & *» 4% B R
B) TR ¥ W EE RO § &
(OF1* Peig 7 3 PR F AT E2TPTIL > 2 RAF FAXF > T ILAR]
(D)7 45 R AR 5 F o) oy » B BUIR S

[A]48.F - 2 B § LB  TREF 0LV LHHITREF2V TR HTRHE S

(A) 100 dB (B) 5 dB (€)50dB

[B] 49. 4e+ Bl » A1~ A2 R LR H %+ B - i h 2 e {e TR : Voo -
fafr?BE 0V, 29 Vop=10V ~R=1kQ > % % - j&il
(LED)#: TR 52V 3K § Vs =6 VI » % % - f58L1 ~ Lo
I A
(A) Lij= ~ L=
(B)Lii# ~ Lo&
(C)Li# ~ Lo#
D)Lix ~L2%

[D] 50. + W 5~ %k BRB: > “7F T HWA=100 Bk = EMH T HMEFT R Ik
Vi=25mV->n=1~Vg=1V-R=1kQ [g5#® ?
(A) 1.1 mA
(B) I mA
(C) 0.99 mA
(D) 0.98 mA




